
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Primfaktorzerlegung der 3­stelligen Zahl

270 288

175 240

192 180

343 252

432 448
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Primfaktorzerlegung der 3­stelligen Zahl

270

= 2 × 3 × 3 × 3 × 5

288

= 2 × 2 × 2 × 2 × 2 × 3 × 3

175

= 5 × 5 × 7

240

= 2 × 2 × 2 × 2 × 3 × 5

192

= 2 × 2 × 2 × 2 × 2 × 2 × 3

180

= 2 × 2 × 3 × 3 × 5

343

= 7 × 7 × 7

252

= 2 × 2 × 3 × 3 × 7

432

= 2 × 2 × 2 × 2 × 3 × 3 × 3

448

= 2 × 2 × 2 × 2 × 2 × 2 × 7

www.snowmath.com

https://www.snowmath.com

